SUBJECT:

Oakmont Self Storage Off-Site PI#5808

DEPARTMENT:

Development Review Division of Development Services Department

SECTION:

Project Review & Processing

BOARD DATE:

July 22, 2025

CONTACT:

Lee Ann Kennedy

RECOMMENDATION:

Grant permission to the Development Services Department to administratively accept the Required Off-Site Improvement Facilities (sidewalks, water and wastewater) for Maintenance to serve Oakmont Self Storage Off-Site, located in Section 17, Township 28, and Range 20, upon proper completion, submittal and approval of all required documentation. Also provide the administrative rights to release the warranty security upon expiration of the warranty period, warranty inspection and correction of any failure, deterioration or damage to the Improvement Facilities. Accept a Warranty Bond in the amount of \$49,432.64 and authorize the Chairman to execute the Developer's Agreement for Warranty of Required Off-Site Improvements.

BACKGROUND:

On July 19, 2022, Permission to Construct was issued for Oakmont Self Storage Off-Site, after construction plan review was completed on June 10, 2022. The developer has submitted the required Bond, which the County Attorney's Office has reviewed and approved. The developer is Oakmont Self Storage, LLC and the engineer is June Engineering Consultants.

OWNER/DEVELOPER'S AGREEMENT FOR WARRANTY OF REQUIRED OFF-SITE IMPROVEMENTS

This Agreement made and entered into this	day of		_, 20	25		by ر	and	betv	veen
Oakmont Self Storage LLC	, hereinafter	referred	to	as	the	"Own	er/Devel	oper"	and
Hillsborough County, a political subdivision of the State of	Florida, herei	nafter refe	erred	to	as the	e "Coui	nty."		

Witnesseth

WHEREAS, the Board of County Commissioners of Hillsborough County has adopted site development regulations which are set forth in the Land Development Code (hereafter the "Site Development Regulations"); and

WHEREAS, the Site Development Regulations authorize the County accept ownership and/or maintenance responsibility off-site improvement facilities constructed of the Owner/Developer conjunction with site development projects in Hillsborough County, provided the improvement facilities meet County standards and warranted against are defects in workmanship and materials for a period of two (2) years; and

WHEREAS, the Owner/Developer has completed certain off-site improvement facilities in conjunction with the site development project known as Oakmont Self Storage

(hereafter referred to as the "Project"); and

WHEREAS, pursuant to the Site Development Regulations, the Owner/Developer has requested the County to accept the aforementioned off-site improvement facilities for ownership and/or maintenance; and

WHEREAS, the Owner/Developer has represented to the County that the completed improvement facilities have been constructed in accordance with the approved plans and all applicable County regulations and technical specifications; and

WHEREAS, the Owner/Developer has offered to warranty the off-site improvement facilities against any defects in workmanship and materials and to correct any such defects which arise during the warranty period.

NOW, THEREFORE, in consideration of the intent and desire of the Owner/Developer as set forth herein, and to gain acceptance for ownership and/or maintenance by the County of the aforementioned off-site improvement facilities, the Owner/Developer and the County agree as follows:

- 1. The terms, conditions and regulations contained in the Site Development Regulations are hereby incorporated by reference and made a part of this Agreement.
- 2. For a period of two (2) years following the date of acceptance the off-site improvement facilities ownership maintenance for and/or by the County, the Owner/Developer agrees to warrant the off-site improvement facilities described below workmanship against failure, deterioration or damage resulting from defects in The Owner/Developer agrees to correct within the warranty period any such materials.

1 of 4 03/2025

failure, deterioration or damage existing in the improvement facilities improvement facilities thereafter comply with the technical specifications contained in approved plans and Site Development Regulations. The off-site improvement facilities to be warranted constructed in conjunction with the Project are as follows:

	ublic works (ie. sidewalks, water line, sanitary line)
The Owner/De	eveloper agrees to, and in accordance with the requirements of the Site
Development	Regulations, does hereby deliver to the County an instrument ensuring the
performance of	the obligations described in paragraph 2 above, specifically identified as:
a.	Letter of Credit, number, dated,
	with by order of
	, or
b.	A Warranty Bond, dated 5/14/2025 with Oakmont Self Storage LLC Bond #54-265617
	as Principal, and United Fire & Casualty Company as Surety, and
c.	Cashier/Certified Check, number,
	datedbe deposited by the County into a
	non-interest bearing escrow account upon receipt. No interest shall
	be paid to the Owner/Developer on funds received by the County
	pursuant to this Agreement.

A copy of said letter of credit, warranty bond, or cashier/certified check is attached hereto and by reference made a part hereof.

- 4. In the event the Owner/Developer shall fail or neglect to fulfill its obligations under this Agreement and as required by the Site Development Regulations, the Owner/Developer shall be liable to pay for the cost of reconstruction of defective off-site improvement facilities to the final total cost, including but not limited to engineering, legal and contingent costs, together with any damages, either direct or consequential, which the County may sustain as a result of the Owner/Developer's failure or neglect to perform.
- 5. The County agrees, pursuant to the terms contained in the Site Development Regulations, to accept the off-site improvement facilities for maintenance, at such time as:
 - a) The Engineer-of-Record for the Owner/Developer certifies in writing that said off-site improvement facilities have been constructed in accordance with:
 - (1) The plans, drawings, and specifications submitted to and approved by the County's Development Review Division of Development Services Department; and
 - (2) All applicable County regulations relating to the construction of the offsite improvement facilities; and
 - Authorized representatives of the County's Development Review Division of Development Services Department have reviewed the Engineer-of-Record's

2 of 4

03/2025

certification and have not found any discrepancies existing between the constructed improvement facilities and said certification.

- 6. If any part of this Agreement is found invalid and unenforceable by any court of competent jurisdiction, such invalidity or unenforceability shall not affect the other parts of this Agreement if the rights and obligations of the parties contained herein are not materially prejudiced and the intentions of the parties can be effectuated.
- 7. This document, including all exhibits and other documents incorporated herein by reference, contains the entire agreement of the parties. It shall not be modified or altered except in writing signed by the parties.

IN WITNESS WHEREOF, the parties hereto have executed this Agreement, effective as of the date set forth above.

ATTEST:	Owner/Developer:
	Ву
Witness Signature	Authorized Corporate Officer or Individual
	(Sign before Notary Public and 2 Witnesses)
Chris Kannski	Rohland A June II - Oakmont Self Storage LLC
Printed Name of Witness	Printed Name of Singer
signilis hi	MGR
Withes Signature	Title of Signer
Jacquelin e Kaminski	23 W Joiner St, Winter Garden Fl 34787
Printed Name of Witness	Address of Signer
	407-905-8180
	Phone Number of Signer
CORPORATE SEAL	
(When Appropriate)	
VICTOR D. CRIST	BOARD OF COUNTY COMMISSIONERS
Clerk of the Circuit Court	HILLSBOROUGH COUNTY, FLORIDA
By:	By:
Deputy Clerk	Chair
	APPROVED BY THE COUNTY ATTORNEY

proved As To Form And Legal

Sufficiency.

03/2025

Representative Acknowledgement

STATE OF FLORIDA

COUNTY OF HILLSBOROUGH

The foregoing instrument was acknowledged before me by n	neans of 🔀 physical presence or 🔲 online notarization, this
15 day of May 2025	by Rohland A. June II as
(day) (month) (yea	r) (name of person acknowledging)
Manager for	30 kmont Self Strage LCC
	ame of party on behalf of whom instrument was executed)
Personally Known OR Produced Identification	(Signature of Notary Public - State of Florida)
Type of Identification Produced	
JACQUELINE KAMINSKI MY COMMISSION # HH 628470 EXPIRES: May 13, 2029	(Print, Type, or Stamp Commissioned Name of Notary Public)
(No ry Seal)	(Commission Number) (Expiration Date)
Individual Acknowledgement STATE OF FLORIDA COUNTY OF HILLSBOROUGH	
The foregoing instrument was acknowledged before me by n	neans of 🔲 physical presence or 🔲 online notarization, this
day of	, by
(day) (month) (year	(name of person acknowledging)
Personally Known OR Produced Identification	
-	(Signature of Notary Public - State of Florida)
Type of Identification Produced	
	(Print, Type, or Stamp Commissioned Name of Notary Public)
(Notary Seal)	(Commission Number) (Expiration Date)

SITE DEVELOPMENT WARRANTY BOND - OFF-SITE IMPROVEMENTS

KNOW ALL MEN BY THESE PRESENTS, that we Oakmont Self Storage, LLC _called the Principal, and_ United Fire & Casualty Company _called the Surety, are held and firmly bound unto the **BOARD** OF COUNTY **COMMISSIONERS** OF HILLSBOROUGH COUNTY, FLORIDA, in the sum of Forty-nine thousand four hundred thirty two and 64/100 (\$ \$49,432.64) Dollars for the payment of which we bind ourselves, our heirs, executors, administrators, and successors, jointly and severally, firmly by these presents. WHEREAS, the Board of County Commissioners of Hillsborough County has adopted land development regulations in its Land Development Code pursuant to the authority granted to it in Chapters 125, 163 and 177, Florida Statutes, which regulations are by reference hereby incorporated into and made a part of this warranty bond; and WHEREAS, these site development regulations affect the development of land within the unincorporated areas of Hillsborough County; and WHEREAS, in connection with the development of the project known as Oakmont Self Storage hereafter referred to as the "Project", the Principal has made the request that the Board of County Commissioners of Hillsborough County accept the following off-site improvements for maintenance: Water, wastewater, sidewalk, sod (hereafter, the "Off-Site Project Improvements"); and WHEREAS, the aforementioned site development regulations require as a condition of acceptance of the Off-Site Project Improvements that the Principal provide to the Board of County Commissioners of Hillsborough County a bond warranting the the Off-Site Project Improvements for a definite period of time in an amount prescribed by the aforementioned site development regulations; and WHEREAS, the Principal, pursuant to the terms of the aforementioned site development regulations has entered

into a site development agreement, hereafter the "Owner/Developer Agreement", the terms of which agreement require the Principal to submit an instrument warranting the above- described improvements; and

WHEREAS, the terms of said Owner/Developer Agreement are by reference, hereby, incorporated into and made a part of this Warranty Bond.

NOW THEREFORE, THE CONDITIONS OF THIS OBLIGATION ARE SUCH THAT:

- A. If the Principal shall warrant for a period of two years following the date of acceptance of the Off-Site Project Improvements for maintenance by the Board of County Commissioners of Hillsborough County, against failure, deterioration, or damage resulting from defects in workmanship and/or materials, and;
- В. If the Principal shall correct within the above described warranty period any such failure, deterioration, or damage existing in the aforementioned improvements so that said improvements thereafter comply with the technical specifications contained in the Site Development Regulations established by the Board of County Commissioners of Hillsborough County, and:
- C. If the Principal shall faithfully perform the Owner/Developer Agreement at the times and in the manner prescribed in said Agreement;

1 of 2 04/2024

THEN THIS OBLIGATION SHALL BE NU EFFECT UNTIL August 22, 2027	LL AND VOID; OTHERWISE, TO	REMAIN IN FULL FORCE AND
		·
SIGNED, SEALED AND DATED this 14th	day of May	_, ₂₀ 25
ATTEST:	Oakmont Self Storage	LLC
Jacqueline Kaminski	Principal	Seal
	United Fire & Casualty	Company
	Surety	Seal
ATTEST:	. Λ	D 1 STORAGE
Bisa Roseland	By	W. Quantity of the Control of the Co

APPROVED BY THE COUNTY ATTORNEY

Approved As To Form And Legal Sufficiency.



UNITED FIRE & CASUALTY COMPANY, CEDAR RAPIDS, IA UNITED FIRE & INDEMNITY COMPANY, WEBSTER, TX FINANCIAL PACIFIC INSURANCE COMPANY, LOS ANGELES, CA CERTIFIED COPY OF POWER OF ATTORNEY

(original on file at Home Office of Company – See Certification)

Inquiries: Surety Department 118 Second Ave SE Cedar Rapids, IA 52401

KNOW ALL PERSONS BY THESE PRESENTS, That United Fire & Casualty Company, a corporation duly organized and existing under the laws of the State of Iowa; United Fire & Indemnity Company, a corporation duly organized and existing under the laws of the State of Texas; and Financial Pacific Insurance Company, a corporation duly organized and existing under the laws of the State of California (herein collectively called the Companies), and having their corporate headquarters in Cedar Rapids, State of Iowa, does make, constitute and appoint

KIM E. NIV, JEFFREY W. REICH, SUSAN L. REICH, TERESA L. DURHAM, LISA A. ROSELAND, SONJA AMANDA FLOREE HARRIS, CHERYL A. FOLEY, ROBERT P. O'LINN, SARAH K. O'LINN, EMILY J. GOLECKI, NATHAN K. REICH, EACH INDIVIDUALLY

their true and lawful Attorney(s)-in-Fact with power and authority hereby conferred to sign, seal and execute in its behalf all lawful bonds, undertakings and other obligatory instruments of similar nature provided that no single obligation shall exceed \$100,000,000.00 and to bind the Companies thereby as fully and to the same extent as if such instruments were signed by the duly authorized officers of the Companies and all of the acts of said Attorney, pursuant to the authority hereby given and hereby ratified and confirmed.

The Authority hereby granted is continuous and shall remain in full force and effect until revoked by United Fire & Casualty Company, United Fire & Indemnity Company, and Financial Pacific Insurance Company.

This Power of Attorney is made and executed pursuant to and by authority of the following bylaw duly adopted by the Boards of Directors of United Fire & Casualty Company, United Fire & Indemnity Company, and Financial Pacific Insurance Company.

"Article VI - Surety Bonds and Undertakings"

Section 2, Appointment of Attorney-in-Fact. "The President or any Vice President, or any other officer of the Companies may, from time to time, appoint by written certificates attorneys-in-fact to act in behalf of the Companies in the execution of policies of insurance, bonds, undertakings and other obligatory instruments of like nature. The signature of any officer authorized hereby, and the Corporate seal, may be affixed by facsimile to any power of attorney or special power of attorney or certification of either authorized hereby; such signature and seal, when so used, being adopted by the Companies as the original signature of such officer and the original seal of the Companies, to be valid and binding upon the Companies with the same force and effect as though manually affixed. Such attorneys-in-fact, subject to the limitations set of forth in their respective certificates of authority shall have full power to bind the Companies by their signature and execution of any such instruments and to attach the seal the Companies thereto. The President or any Vice President, the Board of Directors or any other officer of the Companies may at any time revoke all power and authority previously given to any attorney-in-fact.







IN WITNESS WHEREOF, the COMPANIES have each caused these presents to be signed by its vice president and its corporate seal to be hereto affixed this 24th day of January, 2023

> UNITED FIRE & CASUALTY COMPANY UNITED FIRE & INDEMNITY COMPANY FINANCIAL PACIFIC INSURANCE COMPANY

State of Iowa, County of Linn, ss:

On 24th day of January, 2023, before me personally came Kyanna M. Saylor to me known, who being by me duly sworn, did depose and say; that she resides in Cedar Rapids, State of Iowa; that she is a Vice President of United Fire & Casualty Company, a Vice President of United Fire & Indenmity Company, and a Vice President of Financial Pacific Insurance Company the corporations described in and which executed the above instrument; that she knows the seal of said corporations; that the seal affixed to the said instrument is such corporate seal; that it was so affixed pursuant to authority given by the Board of Directors of said corporations and that she signed her name thereto pursuant to like authority, and acknowledges same to be the act and deed of said corporations.



Patti Waddell Iowa Notarial Seal Commission number 713274 My Commission Expires 10/26/2025 Patti Waldell Notary Public

I, Mary A. Bertsch, Assistant Secretary of United Fire & Casualty Company and Assistant Secretary of United Fire & Indemnity Company, and Assistant Secretary of Financial Pacific Insurance Company, do hereby certify that I have compared the foregoing copy of the Power of Attorney and affidavit, and the copy of the Section of the bylaws and resolutions of said Corporations as set forth in said Power of Attorney, with the ORIGINALS ON FILE IN THE HOME OFFICE OF SAID CORPORATIONS, and that the same are correct transcripts thereof, and of the whole of the said originals, and that the said Power of Attorney has not been revoked and is now in full force and effect.

In testimony whereof I have hereunto subscribed my name and affixed the corporate seal of the said Corporations

_ day of _ May 14th this

CORPORATE





By: Mary A Bertoch Assistant Secretary, UF&C & UF&I & FPIC

OAKMONT SELF STORAGE-COUNTY ROW WARRANTY BOND

Prepared by: June Engineering Consultants, Inc

23 W. Joiner St Winter Garden FL 34787

407-905-8180

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
OFFISTE	WATER				
1	MOBILIZATION	1	LS	\$10,000.00	\$10,000.00
2	MOT	1	LS	\$5,000.00	\$5,000.00
3	SURVEY & AS BUILT	1	LS	\$5,000.00	\$5,000.00
4	TESTING	1	LS	\$7,000.00	\$7,000.00
5	8" DIP	60	LF	\$81.60	\$4,896.00
6	12" DIP	2080	LF	\$106.80	\$222,144.00
7	BELL RESTRAINTS 12"	60	EA	\$342.00	\$20,520.00
8	20" JACK & BORE	40	LF	\$438.00	\$17,520.00
9	24" JACK & BORE	60	LF	\$462.00	\$27,720.00
10	CASING & SPACERS	12	EA	\$330.00	\$3,960.00
11	MISC. FITTINGS	1	LS	\$10,800.00	\$10,800.00
12	12" GATE VALVE	14	EA	\$5,400.00	\$75,600.00
13	8" GATE VALVE	2	EA	\$3,600.00	\$7,200.00
14	12 " 45%	5	EA	\$478.00	\$2,390.00
15	FIRE HYDRANT ASSY.	4	EA	\$8,160.00	\$32,640.00
16	CHLORINATE	1	LS	\$3,000.00	\$3,000.00
SOD					
16	SOD- Back of Sidewalk/Disturbed within ROW	500	SY	\$4.20	\$2,100.00
SANITAR	RY OFFSITE				
17	6" PVC SDR35 Gravity	92	LF	\$25.00	\$2,300.00
18	2" PVC (SCH 40) FM	46	LF	\$21.00	\$966.00
19	4" PVC (C900) FM	16	LF	\$28.00	\$448.00
SIDEWAL	K,STRIPPING &SIGNAGE				
20	SIDEWALK	777	SY	\$35.55	\$27,622.35
21	STRIPPING & SINAGE	1	LS	\$5,000.00	\$5,000.00
22	ADA MAT	2	EA	\$250.00	\$500.00
	9			TOTAL	\$494,326.35

Rohland A June II, PE PE #41949